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ESSAY A

16. Science et technologie : Les avancées scientifiques

Les avancées scientifiques qui ont affecté la vie des Frangais au cours des
cinquante derniéres années sont-elles entierement positives ? Justifiez votre
réponse.
Relevance and Points of View [10]
Structure and Analysis [15]
Quality of Language [20]
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ESSAY A

Science et technologie : Les avancées scientifiques

Title: Les avancées scientifiques qui ont affecté la vie des Frangais au cours des
cinquante derniéres années sont-elles entiérement positives ? Justifiez votre réponse.

Length: 448 words
Mark: 4+5+6+5 =20

Content

The candidate begins by rephrasing the question on the exam paper and paving the way for a
‘for and against’ approach to that question. She goes on to examine stem cell research,
transplants of human organs, cloning and genetically modified foods, including some
examples from France, before concluding that in overall terms scientific progress had brought
more benefits than disadvantages to French people in the last fifty years.

Grid N: Relevance and points of view

The information given is relevant to the task and relates clearly to French-speaking society.
However, while many of the sentences are fine in isolation, the candidate seems confused
about how the various issues relate to each other and does not always support her opinions
adequately. For example, towards the end of the second paragraph she makes a passing
reference to cloning but offers no explanation or evaluation. The essay as a whole shows little
evidence of originality or imagination, hence the decision to award a mark of 4 rather than 5

or 6.

Grid O: Structure and analysis

At first sight, the essay is reasonably well structured, comprising an introduction, several main
paragraphs and a conclusion. The candidate shows some ability to structure an argument,
e.g. in setting out the positive and negative aspects of organ transplants and in explaining the
dangers of genetically modified crops. However, in the essay as a whole the candidate is
unable to sustain a structured and organised response. Her conclusion that scientific progress
has been very positive contrasts starkly with her negative comments on genetically modified
crops in the previous paragraphs. Therefore, a mark of 5 is awarded.

Quality of language

The candidate shows a fair understanding of grammatical usage, achieving a reasonable
success rate with verb endings and adjectival agreements. However she rarely attempts
complex structures and makes some very basic errors such as the singular verb after les
avancées in paragraph 3 and the inappropriate passive ont été mangé in paragraph 4. The
vocabulary is mostly predictable and the candidate makes extensive use of phrases which
could be applied to any topic such as il convient d’examiner and bien que jaie dit que. The
marks awarded are 6 for grid C2 (accuracy) and 5 for grid F2 (range)



ESSAY B

14. L’Environnement : La protection de I’environnement

Vous travaillez pour un groupe de bénévoles dont le réle est de sensibiliser les
jeunes Frangais a la nature. Ecrivez le texte d’'une brochure pour inviter les
jeunes a participer a ce groupe.

Relevance and Points of View [10]
Structure and Analysis [15]
Quality of Language [20]
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ESSAY B

L’Environnement : La protection de I’environnement

Title: Vous travaillez pour un groupe de bénévoles dont le role est de sensibiliser les
jeunes Frangais a la nature. Ecrivez le texte d’une brochure pour inviter les jeunes a

participer a ce groupe.

Length: 258 words
Mark: 4+8+4+5 =21

Content

The candidate begins with a lively appeal to the reader to join her group, explaining how it is
relevant to young people in particular. She goes on to describe how the reader is invited to
join a stage in the Alps, which will include learning about the natural environment as well as
recreational activities. The reader will then be able to share her/his raised environmental
awareness with friends and family members back home. The candidate finishes by giving
practical information about joining the group.

Grid N: Relevance and points of view

The candidate conveys some relevant information, but the essay barely reaches the minimum
word count of 250 and that word count includes a substantial amount of peripheral material
such as the information on recreational activities and how to join the group. Only one
paragraph is devoted to the main focus of the stage and no explanation is given of how
participants will learn about the natural environment in the Alps, nor how they will apply that
learning to their own lives. That paragraph includes references to recycling and reusing
objects, but they are not supported by any specific information or explanation. The lack of
detailed information in the piece as a whole limits the mark for grid N to 4.

Grid O: Structure and analysis

The candidate presents her ideas in a logical sequence and shows some ability to develop an
argument. The paragraphing is sensible and the piece hangs together well. However, there is
little evidence of evaluation or the drawing of conclusions, with much of the piece consisting
of narration. A mark of 8 is awarded for structure and analysis.

Quality of language

The French is accurate enough to convey the intended meaning, but the mark of only 4 for
grid C2 (accuracy) reflects the large number of basic errors with verb endings such as veut-tu,
vous allions and vous partent. For grid F2 (range), @ mark of 5 is awarded because the
candidate forms some longer sentences, mainly using que, but does not produce the wide
variety of structures that strong candidates are expected to produce at A2 level. The
vocabulary is mainly predictable, with a few words used wrongly such as grandir.



ESSAY C

11. Questions de société : Chomage — causes et conséquences

Vous étes au chomage. Ecrivez une lettre a un journal francophone pour
expliquer les problémes que vous avez rencontrés et I'aide que les autorités

devraient fournir.

Relevance and Points of View [10]
Structure and Analysis [15]
Quality of Language [20]
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ESSAY C

Questions de société : Chomage — causes et conséquences

Title: Vous étes au choémage. Ecrivez une lettre a un journal francophone pour
expliquer les problémes que vous avez rencontrés et I’aide que les autorités devraient

fournir.

Length: 383 words
Mark: 3+8+7+7 =25

Content

The letter begins with an explanation of how the writer came to be unemployed, which was ali
the more painful because he had previously been in a high-ranking and well-paid position.
The explanation includes a reference to the economic downturn of 2009. In the second
paragraph, the writer explains how the limited financial support given by the authorities has
been boosted by gifts from family members and how a group of volunteers has been helping
to find work for him and other unemployed people. In the third and final paragraph, the writer
states that it is not his fault that he is unemployed and that his situation ought to be taken
seriously.

Grid N: Relevance and points of view

The first two paragraphs provide a satisfactory explanation of the writer’s circumstances, but
the candidate then devotes a substantial part of the essay to describing the help that has
already been given, which is not an essential aspect of the task set. Conversely, the
candidate does not address the second part of the question — l'aide que les autorités
devraient fournir — apart from a brief statement that the help given so far is inadequate. The
candidate makes no specific references to French-speaking society. Bearing these factors in
mind, a mark of 3 is the maximum that can be awarded for grid N.

Grid O: Structure and analysis

The letter presents some valid points of view which are mostly linked in a logical sequence.
The use of appropriate adverbs such as pourtant and donc helps the reader to follow the
candidate’s line of reasoning. However, the conclusion is weak and the quality of the analysis
overall is not sufficient for a mark in the 10-12 band. The mark awarded for grid O is 8.

Quality of language

The language is generally accurate, maintaining a good success rate with verb endings and
adjectival agreements. Spelling errors are relatively few. The candidate seems comfortable
with the basic principles of French grammar. However, there are some major errors, such as
a été besoin and ont nous aidé, and the success rate with complex structures is patchy. The
performance is stronger than the 5-6 band for accuracy but only just merits going into the 7-8
band; a mark of 7 is therefore awarded for grid C2. The candidate also gains a mark of 7 for
grid F2, because he uses a suitable range of vocabulary and some complex structures
including ceux qui and dans laquelle, but falls short of the wide range of verb tenses and
other constructions that would merit a mark of 8 or 9.

13



ESSAY D

12. Questions de société : Crime et chatiment

Comment devrait-on combattre la délinquance juvénile en France ?.

Relevance and Points of View [10]
Structure and Analysis [15]
Quality of Language [20]

BEE ol o
: ]
& -
b Pk ML -
wEAEH v 2 e s L e R Ty SR ol ML i s an Tt 2

w AR @a&m, AL UL, R, Wt PN LEOCALH...

pe B RO RERENEAMAR T R ERRERANAY Ly FRELESATI BRIH SR

-«@ @.&. %§Miw Wm W wwm

% ) & # & L . : )
BB A b S B O
i s fedy.

EETEY i RE gl
. e 8 R RREEEEE
B £
P84 ¥ un oS oL malbraod soush
§ 6 vEn &S DGO YRS RRIRRIA S (X} [Es
L

14



00K TN RPOACUA.. Sk oK RO o). e RO ST .
CMICEAMD. .. AL SOCEKR . Qb CEEIR.. SRRAANIK A 48D ..

ve

- DAMIDEIM. ... o L, AL, O SAME QB AT A ALD.... SRR e

Puiogsss. ... satouk.. dounn. 0. DOIARIAL. . POMESIUANL . ARD. It
20D QLD .. SANTRRS. .. G QXAAEIAL . POAD . 0k...... O IO O
PISSEANS.. AL YO L POD. . Y TR0ERS s 0 Qakik d/,}\m&hw

o //

15



D QP SO A PSR SR ARD. s Db AIAK.....
et Ve

pdaatanna. fONCOAN L .. SANIAY oA LA ... mm 4
A AL A EOKL.. K00, OGN, & 100 Chnalorn SO Daac ..

OMKO A DANIC. Al SULCEA. ... D JAALA. .. 0 AR AL DA i

OO Mo B COLOAIAD. .. Gpbe.. PRIARIS. Aat... e LI NCORIRAN AL
B0 AL AL Fert ot ARD. AGRD. AliGeA L ak Ad

ADONDL ... PABD. .. B mmnpva&hm%vw ....................
JE e . aw
O OANINE . ML Bt e AR O Phasn. AN ...

16



oGS  ARANS,... COMAIAMADIAKL ... DAL (k0. NRAG I SR, Conakte.. 94

a»w\w:,w/w«mm ..... N e NSV ON-SVY W "S-\ SO

O OO ... AL SMA ANRAN.. F BB, A DR, 50Cd k.. Bt .

;b!z::i:agmmm— ......... A AN QAEMANSRA De.... mbmaote. & gt

%WQMUC\MQ) ...... ... ... ROOOU....... b A L AN M
v :

e

....................... PO MR .. BOCRIIO,,. A O DROGNL.... Ok
e QAR QUABSL.... CLERE.. (AL PORMAARK (... 0. OANNNID.. Gkt SO

A COMIAYS. S O S SUSCRD . 8B AR A AL suprnrstt, O

S

OIS, .. G ... ARC. B AL St NS O Al LRS- ST,
L A AAILNUDE..... BN, DOt S SO S A0S, 105, 2205 (200480
Ubosuasd.... Seonsloi0).. ... poras o PRAL NS, ... Aat fOa A9 A

/ N *

..........................................................................................................................................

.................................................................................................................................

...............................................................................................................

....................................................................................

....................................................................................

..................................................................................................................................................................
..................................................................................................................................................................

................................................................................................................................................................

17



ESSAY D

Questions de société : Crime et chatiment

Title: Comment devrait-on combattre la délinquance juvénile en France ?

Length: 502 words
Mark: 9+12+9+9 = 39

Content

In her opening paragraph, the candidate sets the tone for a well structured and convincingly
argued essay. She emphasises the importance of the problem and considers its root causes,
including drugs, poor education and gang culture, before going on to suggest possible ways
of overcoming it. She would support a policy of greater social mixing in schools, which would
enable disadvantaged children to achieve greater success, whereas she opposes the
imprisonment of young people because it merely exacerbates the problem of crime. She
would welcome greater efforts to integrate the children of immigrants. In her conclusion, the
candidate confirms the key role played by education and considers that eliminating juvenile
delinquency is an achievable goal.

Grid N: Relevance and points of view

The response is wholly relevant to the task. The candidate’s opinions are clearly conveyed
and are well supported by evidence, including specific references to French-speaking society.
There is little repetition and the candidate’s confident use of French enables her to express
fine nuances of meaning. In places the candidate shows imagination and originality and
overall she demonstrates a clear understanding of the issues raised. A mark of 9 is therefore
merited.

Grid O: Structure and analysis

Even though assessors do not mark essay plans as such, it is immediately clear that the
candidate has planned her response to the task meticulously. The individual paragraphs are
well structured, with opinions supported by appropriate evidence, and the essay as a whole is
coherently organised with the various points arranged in a logical sequence. If there is a
weakness, then it is in the conclusion where the candidate mentions zones urbaines sociales
for the first time without the possibility of development. The performance clearly meets the
criteria of the 10-12 band and is almost good enough to move up into the 13-15 band; a mark
of 12 is therefore awarded.

Quality of language

The essay is characterised by a high level of accuracy in simple and complex structures.
There are some minor errors such as the mis-spelling of autorité and the confusion of des and
de. The candidate uses a very wide range of appropriate vocabulary, including topic-specific
words such as insertion and les forces de l'ordre. She also uses a wide range of complex
structures, including not only the appropriate use of the subjunctive after de crainte que and
de maniére & ce que (it is worth pointing out here that many candidates try to use the
subjunctive too often) but also less noticeable but equally good examples of grammatical
manipulation such as ne peuvent pas étre incarcérés and I'éducation dont on a besoin. Marks
of 9 are awarded for both accuracy and range.
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ESSAY E

13. L’Environnement : Pollution — causes, conséquences et solutions

Jusqu’a quel point est-ce qu’on réussit a combattre la pollution en France ?
Justifiez votre réponse.

Relevance and Points of View [10]
Structure and Analysis [15]
Quality of Language [20]
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ESSAY E

L’Environnement : Pollution — causes, conséquences et solutions

Title: Jusqu’a quel point est-ce qu’on réussit a combattre la pollution en France ?
Justifiez votre réponse.

Length: 443 words
Mark: 6+13+10+10

Content

The candidate begins appropriately by explaining why pollution occurs, essentially as a
consequence of our ever-increasing demand for energy and our reliance on fossil fuels. In his
second paragraph, the candidate considers whether the fact that France relies more heavily
than some countries on nuclear energy is a helpful measure against pollution or not: on the
one hand nuclear power stations do not emit greenhouse gases (incidentally this is a factual
point which candidates not infrequently get wrong), but on the other hand the nuclear industry
causes pollution of a different kind in the form of nuclear waste. The candidate then goes on
to consider renewable energy sources, recognising their advantages while acknowledging
their high costs. He concludes that these energy sources are likely to provide the best long-
term solution to the problem.

Grid N: Relevance and points of view

The information supplied by the candidate is relevant to the task. His points of view are
supported by appropriate evidence, including specific references to French-speaking society.
However, the focus is mainly on nuclear energy and the candidate does not allow himself
space to consider other forms of pollution and review how effectively they are being tackled.
The reference to the Tchernobyl accident of 1986 is not really appropriate in answer to this
question. A mark of 6 is awarded, just below the level at which the candidate would be
required to show ‘an imaginative and/or original response to the task’.

Grid O: Structure and analysis

The response as a whole is clearly structured and well organised. The candidate arranges his
points in a logical sequence and is able to develop a coherent argument. The conclusion
arises naturally out of the specific points made in the previous paragraphs. The performance
is not quite strong enough to merit a mark in the top band because some sections are a little
unclear — such as the sentence beginning Donc il faut se demander... in paragraph 3 — but it
certainly satisfies the descriptors in the second band and is awarded a mark of 12.

Quality of language

Although the candidate makes some errors such as augmente after a plural noun, nuire
without & and atfendre with pour, the overall impression is one of good grammatical control
and a high level of accuracy, meriting a mark of 8 for grid C2. The range of vocabulary used is
notably wide, including topic-specific words such as épuisable, processus, satisfaire (albeit
not correctly conjugated) and énergétique, as is the range of grammatical constructions,
showing good linguistic dexterity in phrases such as personne ne lui a rien dit and dont on ne
peut que réver. The mark for grid F2 is 9.
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ESSAY F

13. L’Environnement : Pollution — causes, conséquences et solutions

Jusqu’a quel point est-ce qu’on réussit a combattre la pollution en France ?
Justifiez votre réponse.

Relevance and Points of View [10]
Structure and Analysis [15]
Quality of Language [20]

. # & W Ty o .
qg‘“‘»:}gin«»q;aigér.u:;gmtnigfg‘f S e as T P OO TR X T ¢ £ RS

PEEEEE

i EHLY

srgwed

e m@% 3§%§§wa§%&@&%§@ .
@Sﬁ» Qiﬁﬁ la. fmg s

23



{Echattens. on muson. du. jolk. que cos déchels.sark......
i -adkives O denc.ank. I aaprcite de buec ek da e Lenumerant .. Nulne pertt....

ot

ﬂlﬂfWCelaegewﬁmé&Me i tecd, o Stedet e o Frogwe o 45 ool . .....

Vet @Eﬁ:@é@@wph ok le (Lsqper. A ‘i acoidnt: pucliosce. Corme celur.de.

YO T PR

ﬂzeff'dylwefvefnfoﬁwmf/zawywé;@A‘événem@nl”mu&w//yaﬂqsw |
gé%wm,faﬁ?esegeks sont: 18wsenties. encore ... £n.ce

.. . £ . ) L
- Y 9y = o &y 010 o2 s Wl Ly s o
est IngpAl .. B e inal ot S
e AT “®as A ? ot £ 0
7
“

2

7 YA e L.
Lne i ant 2. Aol 5 ok commporter. b tvsgute o puscliaune. o SRS

/aaméwggﬁfﬂwt’gpc{g e e

13 Wawuer%w

e B T AR TR BN R L S

p Y 1ileckisert, 1L oae Wééz%eg/@‘aﬁ@mdeﬁ/ﬁnaz Aari doomonss L Enege
aawydame@mmkwﬂfapﬁdwempeuk%%* ffeindie Loe shution..
Mfgijmms Qe&i?so}ukaﬂmfom(’mm%&cmdxf’mwbF(a,were@corhm

\ . »
) Qajufa)/@» SOME e,

24



ESSAY F

L’Environnement : Pollution — causes, conséquences et solutions

Title: Jusqu’a quel point est-ce qu’on réussit a combattre la pollution en France ?
Justifiez votre réponse.

Length: 500 words
Mark: 6+12+8+9 =35

Content

Compared with the essay E, this candidate adopts a different but equally valid approach to
the task. In his introductory paragraph he underlines the importance of the problem and how
we must overcome it for the sake of future generations. He then outlines the different
categories of pollution and reviews their relative severity before explaining how France has
signed up to the Kyoto agreement with the aim of tackling pollution by substantially reducing
its energy consumption. In his final paragraph, the candidate gives his opinion of the best way
forward, which is to increase the use of renewable energy sources.

Grid N: Relevance and points of view

As an essay on pollution, the essay covers a lot of ground and opinions are supported by
appropriately chosen examples from the French-speaking world. However, the emphasis is
not sufficiently in tune with the title — which focuses on how France is currently tackling
pollution — for a mark in the top two bands to be awarded. Too much space is devoted to
describing the different types of pollution and their effects. It was decided to award 6 for grid
N.

Grid O: Structure and analysis

The coherence, clarity and cogency of argument in this piece make it worthy of a mark in the
top band. The line of reasoning is clear both within individual paragraphs and in the essay as
a whole. At times, however, there is a little too much emphasis on description rather than
evaluation, so the final mark awarded is 13 rather than 14 or 15.

Quality of language

The candidate displays a thorough command of the language and maintains a high level of
accuracy in both simple and complex structures. There are a few lexical errors such as
habiter instead of vivre in the first paragraph and a few wrong agreements such as parcs
éoliens ... construit, but such mistakes are easily compensated for by the very wide range of
vocabulary and by the unforced use of complex structures such as celle la moins grave and il
faudra 50 ans pour qu’il n’existe plus. The fact that we are not expecting a native speaker
performance at A2 level is illustrated by the fact that this essay gained full marks for both
range and accuracy.
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